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III.1  

 
𝐼 𝜃  = 𝛽𝐸0

2  1 + cos  
𝜔𝑑 sin 𝜃

𝑐
     

 

1.0 

III.2  
𝐼 𝜃  = 𝛽𝐸0

2  1 + cos
𝜔

𝑐
 𝑑 sin 𝜃 − 𝑡 𝜇 − 1     

 

1.0 

III.3  

 

a.  𝐼 𝜃  = 𝛽𝐸0
2  1 +

1

 2
cos  

𝜔𝑑 sin 𝜃

𝑐
    

 

b.  𝐼𝑚𝑎𝑥 = 𝛽𝐸0
2  1 +

1

 2
  

 

c.  𝐼𝑚𝑖𝑛 = 𝛽𝐸0
2  1 −

1

 2
  

 

 

2.0 

III.4  

 

a.  𝐸  1 𝑧 = 𝑏 =
1

 2
𝐸0 cos 𝜔𝑡 − 𝑘𝑏 − 𝛾  𝑖 ′   

  

b.  𝐸  1(𝑧 = 𝑐) =
1

 2
𝐸0 cos 𝛾 cos 𝜔𝑡 − 𝑘𝑐 − 𝛾  𝑖   

 

c. 𝛼 = 𝛾  
 

 

 

2.0 

III.5  

 

a. 𝐸  Eq = 𝐸0 cos 𝜔𝑡  𝑖 ′ 

 

b. State of polarization = Linear 

 

 

 

0.5 

III.6  

 

a. 𝐸  NP =
𝐸0

 2
 𝑖 cos 𝜔𝑡 + 𝑗 sin 𝜔𝑡   

 

b. State of polarization = Circular 

 

0.5 
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III.7  

 

 
 

 

1.5 

III.8  𝑆 = 2𝛼  

 

1.5 


